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Problem 4% \

Consider the situation shown in the figure M, = 10kg, M, = 5kg, the pulley is frictionless
and so is the table. '

M, 7

M,

a) Draw the forces acting on M,.
b) Draw the forces acting on M,.
c) What is the acceleration of M,?
d) What is the acceleration of Mz?l

e) What is the tension in the string?
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Problen’3

As shown, the massless pulley is hung from the ceiling by a stout rope At =0, you let go
of the 10 kg mass. Calculate

a) Acceleration of 10 kg mass. 5)
b) Acceleration of 5 kg mass. &)
¢) Tension in the string. 5)
d) Tension in the rope. )
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